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1	 (a)	 You are provided with four spinach seedlings.
 
		  ·	 �Select three of the spinach seedlings and enclose the shoots in a transparent plastic 

bag without holes. 

	 	 ·	 �Tie the mouth of the plastic bag enclosing the shoots with a cotton thread as shown 
in Fig. 1.1.

 
	 	 ·	 �Put the seedlings in a small beaker of water and keep the plastic bag above the 

water as shown in Fig. 1.1.

Fig. 1.1

 		  ·	 �Allow the beaker to stand on the table for about 10 minutes and proceed to  
Question 1 (b).

 
	 	 ·	 �After 10 minutes observe the appearance of the internal walls of the plastic bag. 

		  (i)	� Describe and explain the change observed on the internal surface of the plastic bag.

			   description ������������������������������������������������������������������������������������������������������������������

			   ������������������������������������������������������������������������������������������������������������������������������������

			   explanation �����������������������������������������������������������������������������������������������������������������

			   ������������������������������������������������������������������������������������������������������������������������������������

			   ������������������������������������������������������������������������������������������������������������������������������������

			   ������������������������������������������������������������������������������������������������������������������������������������

			   ������������������������������������������������������������������������������������������������������������������������������  [4]

		  (ii)	 Explain why three seedlings are used instead of one.
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